MAT 161 Test 4 Name %af“

Fall2016 Version 1

Show all work for credit purposes.

1. Evaluate the Riemann sum for f(x)=8x+x* on —2 < x <14, with four subintervals, taking the sample
points to be the midpoints.
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2. Calculate lﬁ;{z (5+%2)°(2) by evaluating the equivalent integral.
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3. Find the area fromx = 0 to x = 7 , between the x-axis and the curve ) =2 “COS(3X). «§1
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4. Find the average value of f(x)=2x+4/x on the interval [7 101].
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5. Calculate the area bounded by the curves y = x? and y = x3
o

6. A cyhnder is 50 ft. tall with a radius of 4 feet is filled with water that weighs 64.5 Ibs per cubic foot.
How much work is required to empty the cylinder from the top?
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7. Find the derivative of F(x)= [In(cos(6r)+ 5)' dt
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8. Calculate the following.
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b. jsin(x)sec2(cos(x) +3)dx c. j x*(2x* +3)°dx
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